LS4 —3 A bavy ) — bMEAEHEE
2024 £ 4 A 1 H
FRILERASHT KiTH
I I = I AT K #2911
TEL: (0847) 34-0002 FAX: (0847) 34-0003
Bl FtmEF 4 B B
T F 4 |
At £ Hl B ]
WOA T E W
AB A O HMBE| EERS)
=y ) — b OFT AR R |
BB & O &/ B F
ayzy—ro | IS i X377 EA37 70 | EHMOBKE | AL O
oy | IR SRS | - cm mm LB
& A | 27 12 20 BB
ﬁi?f}yhmﬂﬁ IO A B M DIk FOLMICER |
& E B OREE 1 BB - 30 T I Y Y A RS R BB
= Fik
BHM DTN IR K 5 K5 AR FE BV ) - OREHER — lke/m
e KD K5y - B RE avy ) — | ORE — C
i 4| RO TR, O 1 Bt B ABTRL R OB A R TR | A A > Mo B0 LIR 55 % |
. ke fE o 0.30 ke/nf2LF | (/K &0 BAE{ED LR —  keg/nmi
o | PEOAE & RAES D 4 28 B | HAe 2 2 MO H R ED TR —  ke/od
= X% B ED LR ]
E5E 4£5 % |MBEBOR T AR | —~ on
= M M
A Y AR KT A v MR, P g/of | 3.04 [Nawbeq % | —
BB e — | i | - HEE g/at | — | NaOeq % | —
A=, T.MJ‘)V'HHEJ@;‘& gL gﬁ.;ﬁ!‘.;ﬁ‘-l @}E / 3 AN
"] s REHI o 4 | krBEA HOXE | "X HE | sk
# Koy stEhiE | S P e | g | R | OHH%
M| O MTE | BRRC L AR ERT A |[EAEAA—E 5 | 265 | — | 2.57 | 3.OBLTF
7| © | =R amny A | {b2ik 5 270 | — |2.57 [3.022.0
e - — — - = - | = | = —
i | @ |TeA2010 | HEFRERHEFEAT /M R A |EAFNS—E 20~10 | 7.00 | — | 2.61 [0.5+0.5
B | @ | #1505 | HFRAR RN MR A [FEAMFNN—JE] 16~5 | 6,40 | — | 2,61 |0.5+0.5
Mle| - = — - = | 1 -T= -
BFEO 52, Zu—1vZ SVIOL & | A EBokH GEIER) Na20eq 0.6
BRI - 5 - % [ —
mEMORINED - @ - [koE sy Bk (k) By EmRaE — %
EEHOERSE WEH | - | #EH | - | #EE2yvkobNo & - (B |
i & R ke/od
AV R R |k WEHO | MEHO|MMEHO HEHO | HEHO HEHEO | RIAO | ERAQ
337 = 175 486 324 — 553 371 — 2.70 —
K A b 52.0 % Kiaah b - % A 4.1 %
EZ ISk (A8 ARG L] T : B —60% : 40% |

ZEIEARER S

A OHEKRSEIS, IRMFOMEHRIZONTIE, YR LIEEETIHE1H 5,

. . o [ R4 FE3R] 1506:2010=40%:60%
BHHEEHER S (THIE~9A10H) BEERR-E 175 LAERZKHAI0. 2%
(12H01B~3H31H) #EERIAIHT LAERKANO. 2% %




VF4—3 A bavy ) — bEE

st

& o % I &

7 )= b o | 277 x0T e [ EMORRTHE | A b O
oy | EICE SRS | - cm mm CEBEE |
o m 27 12 i 20 | BB

PN Y4 W T OEREIC L 10,0 %

il e m = ,%: 33, 80
100
33.8 N/mf
KEAY B W/C |m=a + b X C/W = -17.60 + 27.20 X C/W 52.0 %
b 2720 -

W/C =2 = 338 + 1r.60 X 100 = 52.0 B

HAKE W Y THOFEFIT LY 175 kg/ni

L o W 175 _ 5

HiiE A B C 2 =W/ X 100 = —go. g X 100 = 337 337 kg/m

Cv Cv = C = % = 337 - 3.04 = 111 111 L/nf

ERE A A = RHER X EERE%) = 1000 X 4.5(%) = 45 46 L/nd

%M@r‘%mﬁﬁﬁ Va |Va=g#HaEE - (W+Cv+A)=1000— (175+111+45) =669 669 L/m

i 5 S/a | HTHOFEIZLY 7.1 %

BN & Sv Sv= Va X S/a(%) = 669 X 47.1(%) = 315 315 L/nd

Svl |DSvl = Sv X 60(%) = 189 189 1./nf

Sv2 | @Sv2 = Sv X 40(%) = 126 126 I./m

S1 |(MS1 = Sv1 X BE(2.57) = 486 486 ke/nd

S2 | @S82 = Sv2 X EE(Q.57) = 324 324 ke/mi

BN EM & Gv Gv = Va — Sv = 669 — 315 = 354 354 L./m

Gvl |DGvlI = Gv X 60(%) = 212 212 L/nd

Gv2 |@OGv2 = Gv X 40(%) = 142 142 L/m

Gl | @Gl = Gvl X FEE(2.61) = 553 553 ke/ni

G2 | @®G2 = Gv2 X BE(@Q.61) = 371 371 ke/nd

HNT RN & AE | AE=C XM (%) =337X0.8(%)=2. 70 2.70 kg/nf

B =3 = keg/mi
T A | IRFR K MEMO | MEH | MEHE | HEHO [ HEHe ﬂéﬁ%’ﬁ@}?ﬁ'ﬁﬂ%ﬂ@ RFAA@
337 — 175 486 324 | - 553 371 — | 2.70 =
AKE AL B 52.0 % IKES BRI — % I @ 7.1 %

5




